R L a0l ERF 1521 % § § HaEh 4

101 E 22 4p (B> ) P29 12104

RN N YL L

22 ] A2 F\ 7
08 :30~09:00 |33
09:00 |~ &R

SR 101&)?:,\_?%—% vRlE (Fe2Eido Ry g

09:00~09:05 ,,;@)@»' NEIER W ﬁﬁkﬁt;@}];ka,kz\ F 46 B -

IR e A ok~ RER

RE P FANERIRAN BAF MR 2 2 B E o R o
T H MR AF-—2EFAFEF E AT AR AR
R RE s FE LAY -

09:05-09: 15| % THREE A
- SR - j;v;gLé,l AR 2RI L EEgHE-
S HH I FYRAI AR EET 20 rRlgR A
ZoAEZE A oi'ﬁ;“ﬁ% 15 3pd EfRF A -
PRIFEEEH (F100& 10 1p112" 3L pFiELR):
- CERIRIRARR Sk 2 R (AAEIIRE )8 o G AR R R o
S FBRAREI R (EyFEcE 300 ) ‘JF)}?&;P‘ \':F A

09 : 15-09 : 30 AR
= REFEEL2 - (EEmEgcd 200 pE ) BER  SRIAR
o PRERAE 33 (B pE Rt 150 ] BEII D) Ak 0 A i

fod A pk

00:30-00: 40|~ ~ FEERED 10 £ 120 G ER A
=~ AR AE L0 14 o rRlAER SR

09:40~09:50| i A &3 (RBIFEAA)




:50~10: 00 | A& 3

P00~10°20 | g, (R 2% @A F L)

:20~10:45 | 1 FFR (TSR A

R (L #1238 E L0 2 i & T 23R
3.8 #)

- 45~11 710

$10~11:30 | R dxinTrAgL ez i s FEY &

2 30~11: 35 | TP 2%

D 35~11 240 | 2 A &

1 40~11 : 55 RETER (J X1 gREI LizEL - d PP R TA
4 ”53?2&1{%,&?:
spelg:qg| PEEEEEE v R REER CREHR b
FEEAL)

3
12:10 |#c¢




101 #ERS 15214 MRz 14 48

AR 7 b Bt H i B
S AL 2 D
. S o us - (i o e Lk o &
| NN A AR (R ;%%Tﬁg%wg‘gg_g;;&
B A NN o CIEREE Y
<pg§j§‘ﬁ&;& @E%’dfmg
A% )
= —dm/l?mﬁi e —ingﬁ,‘a,uiﬁgﬁ%
= SRIRRELR FEREH P20 | ZFe kAR rad
ERSFRT B E
O S }‘éi:fgfa ~ R
;H:_ X~ ,‘""v‘"‘.‘ﬂ’"
Tl O ZEIRELT A T TP T
F B a— F . ru-g- B 5
g %\ﬁig ED R S
FIRE 2y
15 %
(Fcpgrady 010017 1 p4=3 100 # 12 % 31 pak)
NI 7 o Bt H B e
GNER ALY &
L - A~ RE R
I | FRINR AR I

LR S ¥ N1
FRBR, 3

Plef %22 -8 &

FEAR R
(& ¥ pF it 300 /)

)

RSP mAE
BRI LR F o
FEL 2 omP £
‘=“L97
¥ ¢




7 BRI S S
o v ak % & .
Crprts 200 ) 27 ¢ 0B AoikEd |
e ) A LR 1k
o ETE RN IR SRR
12 ¢

/4

Sk
N
e B owi o b (= 3oy ouhk

(AT WA S I

i
FlZE 1 s Hokie
FEFESE 44
Vg Fleid s A

; BRI FpES T EL

o ey ?fﬁ;é $R B TR
-"%;g;—-\;'?.‘ 1 “«?}‘,m A

gt 150 ) , - , L3S

CEp ! ILFENIES P I B

SR FHEEEF G 4 -
TAd T HF R E
A E ~ BR O s 3EE
ot SNSTIRCR N B A S

333 ¢

R
L
e

whe ok

e W‘E

BT g
Ry s Wy 98

/
=

oo 2y g N
= T S
=i

A T T T
e O O
-
av
4
P
=

[a—
DN
e

R 10 ot ¥
FRrw ik~ HURIR S B E S
;ﬁgjml\}_éj%\~€évy,\‘
FTEEOHPERS
i;@’/"&?é;&‘rﬁfl\%e\
14 ¢
¥ v




